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1. I the roots of the equation
x2 +mx+m=0 are in the ratio pg,

then
JLJLJE
a Yp VI
g equal to
gl 0O fb) 1
fe) 2 (d 3
= If
Vax? -Tx-30 - y2x¥ - 72 -5=x-5
has o and [} as its roots, then the value
of ofi is
fal -1a bl -5
fe) O fd) 5
3 -P-+E=m and i-|-£-=rL. then what
L T x uy

is X equal to?
u

NPt ny TR m
e - g mg = ng
T e py ST
mp = ng mp + ng

4, I a’-by-cz=0 ax-b2+ez=0 and
ax + by -c? =, then the value of

ufx+hfy+l:f3
will be
fal a+b+e b} 3
fel 1 id) D

5. If the equations x%-pr+g=0 and
.rﬂ+q:r—p=ﬂl have a common root,

then which one of the following is
carrect?

faj p-g=0 b pt+g-2=0
e/ p+g-1=0 (d] p-q-1=0
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1 s |
6., If x=23+2"3 then the walue of
ax? Bx-5is equal to

fa} O fhl 1
fe) 2 fd} 3

T. The sum and difference of two
expressions are Sx2-x-4  and
x?+9x - 10 respectively. The HCF of
the two expressions will be
fal [(x+1) fbl [x-1)
fel [3x+7T) fdl |2x - 3)

B. If [s~a)+(s-b)+(s-¢)=5 then the
value of

[8= aiz -rls—hli +1s—::}i + g7

at+b? st
will be
fa) 3 w1
fe] O fdf -1

9. If the polynomial
J\.:E'+J|:;|n,'nr"+.|;;||:"—.:ri - =3
is divisible by (x* - 1), then the value of
pi+q is
fa) 1 b o
fej 10 ) 13

10. Let p and g be non-zero integers.

Congider the pobymomial
Alxl=x*+px+q

[t 13 given that (x -m) and (x - km| are

gimple factors of A[x), where m is a

non-zero integer and k is a positive

integer, k& = 2. Which one of the following

is correct?

fa) (k+1)?p® = kg
fb) (k+1)%q=kp®
fel k?q=(k+1)p?
fd) k*p® =(k+1) g



1, 9% FHFm b cmxrm=0 % 47 pig
N ﬁg,mffiﬂm
R e Vp Vi

= B

faj O fb) 1

e} 2 (d) 3
2, 7w

u'ai.- Tx—=30 = -u'lixz - Ix=0mx—0

e o @ pE, o op W oA e

fa) -15 fb} -5
(¢ 0 fc) 5
3. g _P-rﬂnm dr S,B_p ﬁ,ﬁf -y

xr y X N u

T &7
ng + gy Ag + g

= mp + ng i mp - Ag
np — np - mq

o= T = T @ g+ ng

4, T nﬂrhy-cz:u, ax—-b2+rez=0 3N
u.:+by—ﬂ“=ﬂi,?i7

=
x + -:-l'.r. | B A

arx b+y e+z

&1 WA FEmT
jal a+b+c Bl 3
et 1 (dj 0

5. a%  wiEm x%-px+g=0 afn
x*tgx-p=0 W TE IEE T B, G
ettt & & F9- o e A
faj p-q=0 (b p+g-2=0
e} prg-1=0 fdl p-g-1=0
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6. R x=23+4273 ¥, @ 223 -6 -5 T T
Farren e Y
fa) 0 b1
e 2 fd) 3

7. B FEL F FE A7 S FE Sxt-x-4
M x?+9x-10 Bl W T =ER W
Ao Be (HCF) T #m?

fal {x+1) fb) [x~-1)
fe} (3x+7) fd} (2x - 3)

8. AR (s~a)+(s~b}+|(s~c)=sh, @
{E—HF +la- bp_ﬂ +la-e)? +82
F

EE-I-"bi+l:'
w1 HH R R

fa} 3 By 1
fe} © fd} -1

9. 3 T

% pxd e get-2?

_x_a.
(x%-1) @ fawrm ¥, W@ plirg? W WA
&7

fa) 1 b} 9

fel 10 fd 13

10. WA wifsyg p ¥ g W o B
ﬁnﬂix':xg+m+qmﬁﬁﬂﬁﬁﬂlt?ﬂ'
formm T % R (0 - m) 2 (e — ke, Afx)

/A TEEE ¥, T m TE W T R, k
g g qobs A k22 ¥ Frefafes #

# FF-T TF w7
fa) (k+1)%p? = kg
(bl (k+1)%g=kp?
fo) k*q=(k+1)p?
id) k*p? =(k+1)*q

|B.T. 0.



11. Let m be a non-zero integer and n be a
positive integer, Let K be the remainder
obtained on dividing the polynomaial
" +m"™ by [x-m) Then
fi} K is a non-zero even infeger
(B R is odd, if m is odd

fe} R=52 for some integer &, if n is
EYEN

R=1" for some integer 1, if 3
divides n
12, [f4*2% = 128 and 3¥3%_ 0% =, then
the value of x+ ¥y can be equal to
a7 fb} 5
e 3 fdi 1

13. If the linear factors of ax? —[a® +1jx+a
are p and g, then p+ g is equal to

f} (x-1Ha+ 1}
ol fx+1)ja+l)
fel (x-1Ha-1)

fd) {x+1Ha-1)

14, If

G va+2b + Ja-2b
-u'r.1+Eb—-."r.l—Eh

then bx? - ax 4 b is equal to [given that

b 0]
fa) O B 1
fc] ab fd) 2ol

15. Ha® =117+8" and a=3+b, then the
value of a+ b iz | given that a> 0 and

b0}
faj 7 bl 9
el 11 fdl 13
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16. If the sum of the roots of ax?+ be+g=0
i egual to the sum of the squares of
their reciprocals, then which one of the
following relations is correct?

fa) ab®+ be” = 2a'c
b} ae?+ be?= 207
fel  ab®+ be? = alc

fd) a%+biiei=1

17. Consider the llowing statements in
respect of the expression

_nin+1)
=T

where n is an integer ;

1, There are exactly two values of
n for which S, = 861

2, S,=8 5,y and hence for any
integer m, we have two values of
n for which 5, = m.

Which of the above statements isfare
correct?

fal 1 only

b 2 only
fe} Both 1 and 2
{d] MNeither I nor 2

18. Consider the Mhilowing statements in
respect of  two  different  non-zero
integers poand g
I. For [p+g) to be legs than [p-gq),

g must be negative,

2. For|p+q)tobe greater than ( p - g,
both p and g must be positive.

Which of the above statements is/are
correct?

fei} 1 only

fbl 2 only

fey Both 1 and 2
{d} Meither 1 nor 2



11. 39 #fm m = TR s #@ e o
wEE piE B owm difem R owpm

" +m" H jx-m)H R SR wE W

TEA §) "

fa) R TR A T

b) R R, g m e R

) Fh ilw = % fom R=s? %, @R
n'-Hﬂ?

fd) e gute + % T m=¢3 2, 3R 3,
n &1 feparfan = &

12. af2 4%2¥ = 128 dw 3= _gW =0 &, A
Xt ymmMWﬂ"rm??

fai T fl) 5
fej 3 [ 1

13. 98 ax? —(a® +l)jx+a F uw HEE
pﬁmqi.?ﬁp+qmm??
fa] |x—1{a+1)
(b {x+1){a+1)
fel [x—1){a-1)
fd) [x+1Ha-1)

14, 4%
o= Yo+3b+ a3
Ja+2b - Ja—2b
® o bx? - ax+ b T T 2T (R o
B he0.)
fa) O b1
fel ab fdl 2ab

15. ¥ a? =117+56% M a=3+b ¥ 7
a+rhE AR EN R (R a> 03
b0
fa) 7 fb} 9
fe) 11 {d) 13
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16. T ax?ebx+c=0 F gel W W, FE

FeEdl % W F e ¥ we R, @ et
Haul § H FE - 0 w6 AT

fa) ab®+ be® = 2a®c
b ac?+bet=2b%a
fe) ab?+be?=ae
fd a?+b?+ef=1

17, =99 5, -"t”;l-’, Wl n e o R, E

amt 1 Frerfnfs st @ famm Sifaw -
1. n % mymm w5t AA 8§, Fes T
5, = 861%)

2. Su=5 (n.q ¢ 20 o =R e ol
m % fom, ¥0 W n & @ oAm 8, fae
fms, =mbi

I FEE H B WA R

fa) ¥ 1

fb) WA 2

fe) 1 ¥R 2 TF

fd) AT 1 HALAH 2

18, 3 ffm W i p ool ¢ F oAt @
Freferfian et o Firam i .

1, |p+g) ¥ (p-gq) @ ¥ TH & Fm
¢ TR B e

2. |p+q)l ¥ |p-q 3 im0 & fm
pﬂiil'!qfﬁli SATFHE B # e

IEF T A E w-m R R

fal 1

(b) e 2

e} 13 22N

{d) a1 Amadz

[ P.T. .



b ¢ \ . 2 2
19. 11 Z =2 =X then which of the following 23 [ﬂm 35") f¢¢355“] .
. ¢ [eea] e |

,h P S (i +25in 3P is equal
is/are correct? -

i B4+ g? R

I al+ b+t @ faj -1
3 a?+b?ie? g b 0

D obietig? d

fef 1

Select the correct anawer using the code
given below. fd} 2
fa/ 1 only
Bl 2 only 24. A cyclist moves non-stop from A to B, a

distance of 14 km, at a certain average
speed. If his average speed reduces by

jd) Meither 1 ner 2 1 km per hour, he takes 20 minutes
20. 7°_5' ix divisible by SRK SOV S eund dinidnee, The
original average speed of the cyclist is

fe) Both 1 and 2

fal &
B 7 fai 5 km/hour
fep 10 B & km/hour
fdl 11
&) 7 km/hour
21. Let a two-digit number be k times the
sum of its digita. If the number formed jd} None of the above

by interchanging the digits is m times

the sum of the digits, then the value of .
25. Il a sum of money at a certain rate of

5

i simple interest per vyear doubles in

fa} 9=k 5 vears and at a different rate of simple

fb 10=k interest per year béecomes three times in

fel 11-k 12 years, then the difference in the two
rates of simple interest per year is

fdl k-1

22. A man walking at 5 km/hour noticed la} 2%

that & 225m long train coming in

the opposite direction crossed him in (b} 3%

9 seconds. The speed of the train is

fa} 75 km/hour
e} 34%

(bl 80 km/hour .

fe} 85 km/hour

(d) 90 km/hour ff 4%
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19, a2 P L4 A Bl # @

b oe o
wel &80
- b3+c‘*1—d:"_g
a+b¥+e? o
a?rb?+c® @
pisc?a? d
A fim T iz wEm w2 gy
fa) = 1
fb) T 2
fe) 1 3R 299
jg) AT FEARAE 2

2

20. 710_ 519 Frpg faw 27

fal 5
b 7
fe} 10
i 11

21. ¥ difm 5 3wl ) = e e #E &

amres # & T ¥ TR e ) A
T T & ol Jmn a9 s F FEn f)
m 1A R, @ m WA F= T

fa) 9-k

b 10-k

i) 11-k

fd k-1

23, ﬁmﬁfﬁsﬁaﬂ¢ﬁazﬁaﬁ{ﬂaﬂﬁﬂ

wen i fgdt f&m # s 78 225 e 6=
T T 3 9 de | un e ) e

) | wn RY

fa) 75 FEe e o
fo 80 FFe e fua
fei 85 BRe Ha gz
fd) 90 fro o foz1
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i 2 2
a3, (mnﬂﬁ”] _I[EDEE-ED] + 2 sin 300 frsr

cos 55"
e A7

sin 35°

fal -1
B 0
fe) 1
(@ 2

24, wF Al e AR BT 14 FEe e 6

it o v uw fafi ohen @@ & @ s
b R I dmE w1 fRe e wR S
=7 gt B, A 5 3 gD W @ s F fm
20 fire @i o 21 a0 wefra =@s R
g it =me wn Rt

fa) 5 Tee e fam
(b 6 THe dte fam
fe) 7 e wie fam
(d) T # & S

25. aR FE w0t wame wm f O S

affs md s 3 A oh @ ot B oain
iy W R A s w12 A
# 7 T w8, @ wmumm wm Fw
21 Wift =0 # T o Y

fa) 2%
] I
el 3-‘11— o

d alm

[P.T. O,



26. Let ABC and A'B'C” be two triangles

in which AB=> A'R, BC= B’ and
CA>C'A*, Let D, E and F be the mid-

points of the sides BC, CA and AR

respectively. Let [, E' and F* be the
midpoints of the sides B'C", C"A’ and
A’ respectively. Consider the following
atatemeénts :

Statement 1 :

AD > A’'D', BE>» B'E* and CF>CF'
are always true,

Statement 11 ;
AB? + BC? 1 caA?
AD? 4+ BE? 4 CF?2
ABEy e oAt
TAD I BE R, R

Which one of the following is correct in
reapect of the above statements?

fal Both Statement | and Statement I
are true and Statement I ia the
correct explanation of Statement |

{t) Both Statement 1 and Statement [I
are true but Statement 1l is not the
correct explanation of Statement 1

fe)  Statement | is true but Statement 11
i3 falze

fcd) Statement ] is false but Statement
iz true

27. The annual incomes of two persons are

in the ratio 9 : 7 and their expenses are
in the ratio 4 : 3. If each of them saves
2,000 per year, what is the difference
in their annual incomes?

fa) ¥ 4000
fal ® 4,500
fe} ¥ 5,000
fd] ¥ 5500

B-ABPA-P-JRW /S4A

28. Let 8 be a set of first fourteen natural

numbers. The possible number of pairs
(a2, B}, where a, b8 and a#=b such
that ab leavea remainder 1 when
divided hy 15, i

fai 3
b} 5
fe] &

fdl None of the above

29. A clock strikes once at 1 o'clock, twice at

2 o'clock and thrce at 3 o'clock, and
a0 on. IT it takes 8 seconds to strike at
2 o'clock, the time taken by it to strike
at 10 oclock is

f) 14 seconds
B 16 seconds
il 18 seconds

fd} MNone of the above

30. In a circle of radius 2 units, & dinmeter

AH intersects a chord of length 2 units
perpendicularly at P, If AP » BP, then
AP is equal to

fal |2 +45) units
B (2+43) units
fel [2++2) units

fddl 3 units



26. WA FitAT ABC ¥ AR 8 Fga €, R
AR> A'E, BC> BC 31 casca #i
wH witam 0, E # FwE g BC, CA
A AR % neg-fig #1 um #ffig Do, B0 sl
F' w9 @l BC, ©'A° MR AR W
e -fag ¥ | Fraffan s w fEw Fifm .
FeA 1 :

AD> A'D’, BE> B'E’ ¥ CF>CF
T W R
FIE I
AB?: BCE 4 A2
AD BEZ+ R
ARt pe?ica

T AI‘D F1+ EFEF: + C'F":

auie W & o Frefefias §  99-@
| 7

fa] FEA 1 3w owws 119w oA
e 11, FeA 1% W = R

(b) FET 1 o WA 1 IH W9 6wl
A 11, A 1w = AR

(e} R | HE ¥ S w1 s R

) T | AgE & Al wee 1w R

27. % =l 6 widE 9W o7 F wgTm | §
M FF T 4 3% B AR e R
wee wieh © 2,000 WA =4 == R, 7 ==
T # o

fa) T 4,000
(b 4,500
fc) ® 5,000
) P 5500
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28, WH Fifa 5 TEd WRER v T T W
21T (@, b) Tt wwfm wen own R, wel
a, be S g+ b TF0 T ab 1 15 9
T 94 W ATES 1 e RE
fa) 3
fh &
fel 6

fd) THEF 2 8w

29, TH GE | T4 T WE W GWA B, 2 T WA
HE AFA B, 3 79 T A | =g oo g
=G wad wd B ouft 5 e oW v ©
g e ol B, W 10 w9 @ = 3
T T &7
ja) 14 HHE
b} 16 e
fe) 18 HE=
(d) Towm §F i

30. 2 v fe a@ U= 99 4 =W AB, 2 7
ot #a w1 pw eEw Afieio w
s AP » BP, A AP Fe awmm &7
fa} {2++5) 58
b} {2+3) ¥
fe] (24 2) T8
fdl 3 7%

| P. T. O,



31. Under what condition on p and g, one of 34, Consider the following statements :

the roots of the equation x*+ px+g=0 1. Every natural number is a real

15 the square of the other? number,

2. Every real number is a rational

2

fa) l+g+g*° =3pg
number,

3. Ewvery integer is a real number.

4, Every rational number 15 a real
number,

() 1+p+p? =3pg

fe) pP+q+q*® =3pg
Which of the above statements are

: 5 correct?
(@ g+ p® = 3bg ja} 1,2 and 3

by 1, 3
32. What is the maximum wvalue of m, If ® 1.3 and 4

the number N=090x42x 324 %535 is g} 2 and 3 only
4 m
divisible by 3™?2 {d] 3 and 4 only

e B 35. For what value af k is [x + 1) a factor of
b 7 Fa T

fe) & a4

fdl 5 b 3

33. A bike consumes 20 ml of petrol per Gl
kilometre, if it is driven at a apeed in the fd) -2
range of 25-50 km/hour and consumes
40 mL of petral per kilometre at any

36. Consider the following state t= ;
other speed, How much petrol ias g T

consumed by the bike in travelling a 1. There exists a positive real number

distance of 50 km, if the bike is driven m such that cosx = 2741,

al a speed of 40 kmfhour for the 2. mnzm+n for all m, 0 belonging to

first 10 km, at a speed of 60 km/hour ast of natiral aambers.

for the next 30 km and at a speed of _

30 km/hour for the last 10 km? Which of the above statements isfare
correcty?

fa) 1 L
fg 1 only

| 4 0

i ftl 2 only

f 4L ¢} Both 1 and 2

fd) 16 L fd) Neither 1 nor 2
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21, WA %2+ por s g = O % TH GH W TH G 34, frfafen syl W fEEm S ;

1 Wi # F o p i g fea witey % s 1. TEF g4 giE U A e e #
Ll 2. e T T O WOR T T
fa 1+q+q* =3pq 4

3. TR Y U AT T o

1+ p+ 2:3 . :
o e P 4, TEEE WY WEA] T S e g

fe) pieq+q® =3pg (4
T T o T w9 FR-3 W AT
f) 1,283
32, 3 FEN N - 90x42x324%55 3" 3 (6] 1,394
Fwrsa B, @) m W oAliEaR AW T o ampdta
i -8 i) Y 3 i 4
e 7
@ 6 as. k% fFmam & (e 1), ¥ k¥ -x42
s 1 T R
fa) 4
a3, 7% AewEiEE ® 25-50 fHe defda it 3
wi @ Rl = @ SEm A T 20 fie e fel 1
e ofs el R mm B b o Rl [ -2

A= =7 # wEw wE w40 fie fe WEm
wfs freiiiiz | 9 &) o gt

; wa T fEn ;
15 10 e e B 40 Fre e b F 36. FefaiEs i Fifm

A, sm@ 30 e e § 60 o Hofum 1. ﬁmmmfmaﬁﬁ
T @ 3 s 10 B e § 30 e e/ 7E W R 6 conx =277 R

el A A weng R, i 2. mnzm+n, T8 AN m o v R
T 50 Tee dle 31 30 g w0 4 e W W & we B

Sy mﬂﬁmﬂﬁﬁm-mmﬁﬁﬁﬁ?

) s fe) A 1

Irll'-'.lI I'Eﬁ“'-'!ﬂ i'bJ mﬂ

fe] 14 fme (o) 12w

fd) 16 f@e [ Ad1mad2
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37. The solution of the inequation

11_1__12-[]

X xg

i | given that x= 0}

fal x>0
fb) x<0
i R E
2
fied] J:h’:_];ﬁnr.:a_—l-—tﬁ

38. Which of the points P[5, -1}, Q[3, -2)
and K{l, 1} lie in the solution of the
syetem of inequations x+y<4 and

x-yg=22

fal Q) and B only
fb) P and R only
f) P and 3} only
fd] P, Jand R

39. A passenger train takes 1 hour less for
@ journey of 120 km, il its speed is
increased by 10 km /hour from its usual

speed. What is itz usual speed?
faj 50 km/hour
(b} 40 kemhour
fed 35 km/hour
fdl 30 km/hour

40. The value of &k, for which the system

of  eguations

3x—ky-20=0

and

Gx = 100+40 =0 has no solution, is

fa) 10
b &
fe} S
d) 3

B-ABPA-P-JRW /544
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41. Consider the following in respect of

natural numbers a, b and ¢ :

1. LCM(ab, ar)=a LCM(b, c)
2, HCF|ab, ac}=a HCF(b, c}
3. HCFia b)<LCM{a, b

4, HCFiag b) divides LCM (a, b).

Which of the above are correct?

fal 1 and 2 only
fl 3 and 4 only
fe} 1, 2 and 4 anly
(@ 1,2, 3 and 4

42, There arc three brothers. The sums of

ages of two of them at a time are
4 years, & years and B vears. The ape
difference batweeni the eldest and the
voungest is

fa) 3 years
fb) 4 years
fe) 5 years
fd} & years

43. A person goes 0 a market between

4 pm. and 5 p.m, When he comes back,
he finds that the hour hand and
the minute hand of the clock have
interchanged their positions. For how
much time [approximately) was he out
of hiz houge?

fal 5538 minutes
(B 5548 minutes
fe} 5557 minutes

{d} 5547 minutes



37, w1+ L -1 20 % AT (e #1. a, b 9 o ¥ fom fefaten = fen

X i ﬁﬁﬂ
R e 0) 1. LCM{ab, ar)= aLCM({b, c]
fa) x>0 2. HCF{ab, at)=aHCF[b, c)
fils) xﬁ:{_ = 3. HCOF(m b)<LCMi{a, b
g = Eﬂxﬂll---“;--- 4. HCF[m b), LCM(a, b) #1 fnfm
_ Al R
fel) xE_—I—_ﬁme-—-Iq-_ﬁ
2 T R
as. figsi pys, 1) QI3 -2) s R(L 1) A iy
A - g wmfem fem xryse ol fb) FEa 3 a4
x-y22% A A §7 fe) ¥R 1,204
ol QIR g 12;;34‘1:4
by FEE PN R el
fe} wEE PN Q

42, @ i ) Frh am w3 g 5 ey W

(d) P, Q¥R AER 4 T, 6 =i Ak 8 = ¥ wEA W2 ain
el ¥ ) o e ol

39. T gnl el 120 fe dle 7 % g 1 9

e o) ¥, TR T = a e d fal 3%
10 e Hie/5m wgr wF 21 gHE AEED fb) 4 =
AR fe) 5%

fa) 50 B e oz
b 40 Fro He bz
fe) 35 e wite fuz

id) & T4

43, % =fF 96 4 99 8§69 5 94 & o9 wen

fdj 30 Fe e fam HIW R | wE aE A A R, 7 9w o R
aE # e ) g s fuae o) g A Rl
40. k ®1 W TR, s T wiem fem a i TEe E § TE R s (En)
3x-ky-20=0 M 6x-10y+40=0 F fom o | wrEn @1?
wI% ¥R W R, TR it Eane
fa] 10
48 fire
i (b} 5548
P fe) 55-57 fz
fdj 3 () 5567
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44. In a gathering of 100 people, 70 of them

can speak Hindi, 60 can speak English
and 30 can apeak French. Further, 30
of them can speak both Hindi and
English, 20 can speak both Hindi and
French. If x is the number of people
whe can apeak both English and
French, then which one of the following
is correct? (Assume that everyone can
speak &t least one of the three
languages.)

fa) S x <30
b O=x«<8

e x=9

() x=8

45. A cloth merchant buve cloth from a

weaver and cheate him by using a scale
which is 10 cm longer than a normal
metre scale. He claims to sell cloth at
the cost price to his customers, but
while selling uses & scale which is
10 cm shorter than a normal metre
scale. What is his gain®

fa) 20%

b 21%
2
,|'f_|l 22'@".'11

1
dl 23— %
fed] 3

B-ABPA-PIRW/E4A
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46. Two pipes A and B can fill a tank

in B0 minutes and 75 minutes
respectively. There is alse an outlet C
If A, Band C are opened fogether, the
tank is full in 50 minutes. How much
time will be taken by Cto empty the full
tank?

faj 100 minutes
{b) 110 minutes
fe) 120 minutes

fd] 125 mnutes

47. In a race of 1000 m, A beats Hby 100 m

or 10 seconds. If they start a race of
1600 m eimultaneously ffom the same
point and if B gets injured after running
50 m less than half the race length and
due to which his speed pets halved, then
by how much time will 4 beat B?

fol 65 seconds
fbl 60 seconds
fel 50 seconds

fd]l 43 seconds

48. The salary of a person is increased by

10% of his original =alary. But he
received the same amount even after
increment. What is the percentage of his
galary he did not receive?

fa)  11%
o} 10%
ff (100 /11)%

fd) (90 /11)%



44, 100 =fEd = = W b o F 70 =i

o=l a9 wFa E, 60 =ive s dm T |
s 30 =ufE = O e E T T A,
=7 B 30 =hw T e st 9 9w
¥ e 20 =i e o T 291 e A= §
qfE x I sl e R = s e Fa
M1 9 wEa & a Fefafae § R SR
wr ol ¥ (AR wifm oo =fs A6
It B | FR-H-0 T A HE )

fa] 9<x=30
fbl D=x«<8
fod x=9

fd} x=8

45. TF FoE F = T A e wiE b e

arE HEr W # 10 He #Hte vl W W
WA LT FIOHIE SR AR A W
W EE W FEE A W T s R
i da moy Bm o = v e R e
A HE el 10 He Hie T ¥ IWE
e RT

fa) 20%

B 21%

2
il EEE T

1
fed) EEE%

B-ABPA-P-JRW (544
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46. 7 T8 A #@n g B 2R W s 60 R

o 75 i 8 mowwd 3w Bem o
a2 4, B ¥R C vwEm wiE Ty and, o
50 e & vl B ot =0 = Iwm wEl
w1 8 T Ay e

fa} 100 fm=
i 110 fo
fe) 120 Fe=
fd) 125 TFe

47, 1000 He wd wh SE d A, B# 100 de @

10 ke # B B2 TR E v f e @
1000 Hie F de wrmy WP w1 1 A0 TR
B & wad F 3 @ 50 fle 0 7% 954
¥ war ume @ T B, fres s 3wl
@ Ind w1 oA R, A A, 5w e we d
T

ja) 65 HFE
M) 60 FF=
fc} S0 Tz
fdl 45 THE

48, W W & A H AT A A 10% Tk WA

i = 9 30 W= o @ 3 f e
# Ui T ) T I I R e vl
i e e gE?

fa) 11%
fbl 10%

fc) (100/11)%
fd) [90/11)%

[P.T. 0.



49. A truck moves along a circular path and

describes 100 m when it has traced out
Jd6° at the centre. The radius of the
circle is equal to

!":'l_nl Em
fb)

i

50. Two poles are placed at P and Qon either

side of & road such that the line joining
F and 0 is perpendicular to the length of
the road, A person moves x metre away
frotn P paralle]l to the road and places
another pole at B Then the person
moves further x metre in the same
direction and furmns and moves a
distance y metre away from the road
perpendicularly, where he finds himaelf,
2 and R on the same line. The distance
between P and Q (l.e., the width of the
road] in metre ig

fa) x

fib

b3 |

fel u

el

B-ABPA-P-JRW (544
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51. Suppose chords AB and CD of a circle

dﬂ

intersect at a point P inside the circle,
Two right-angled triangles A'P'E’ and
C'rD are formed as shown in the
figures below such that AP = AP,
B'P'=BP, C"Q'=CP, D'O'=DP and
ZAPR =90F= /CQ0D :

"_-. e
"l B Q'RD'

Which of the following statements are
not correct?

l. A'"EH and C°Q°'D" are similar
triangles, but need not be
congruent

2. A'PE and C°Q'D' arc congruent
triangles,

3, AFE and C'QXD" are triangles of
3ame area,

4, APE and C'Q°D’ are triangles of
Same perimeter.

Select the correct anawer using the code
given helow.

fa) 2 and 3 only

fb) 1 and 3 only

fo} 1, 2 and 4 only

fd 1,2, 3 and 4



49, TE 7 wfm oy wm oweR gy o%E w36

apgifian #0491 100 He & gl ow A
g7 =) Fam P womn B

1
fez) 100 o

"

00
fof ==
50D 5,

i

(}

50. ¥ W TF BEF F IH) A W P I QW

T yEn wm oW B op oaln o W faee
T T wES oW ™ oTE EE R T
=i WEE & WOW P E x dE g wem 2
ol T W T R W T B 39 o1 TR
= 36 fm § o« fier wgw gz wm § el
HEF  HqEE y T F gl m o= R e
momiFE ey oMM R R W
& paln Q% d A A (awiy TTs A
=1Er) di O ey

fal x

fiak

b | 4

ol wu

fd) 2

B-ABPA-P-JRW /54A
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s1. ¥R #ifim uw ga 6 diend A8 R CD A %

st By p ooy wigsde sl B 9 owgwm
fo@m A'PE dr cop R R R F
spEn g owen & B B o4t - AP,
B'P'=BF, C'Q=CP, DO =D0P i
LAPE = 0F= 00D E:

N\

frefafigs el § 8§ FH-0 w0 T 2

1. APR s CrorD vy w8 Afm
W A 7 FEhEs )

2. APR #ncoD wabm fE f)

3. A'PRE 3 CQD WIR AIRE H
L el

4. A'P'E SR C''D wRH W F BE
|

A w2 F 99 = EE I g

fa) AR 2 a3

fb) e 1473

fe) =1, 2 #N 4

[d} 1,2, 3314

[P.T.0O



52. Suppoee ABC is a triangle with AR of unit

length. [» and £ are the points lying on
AB and AC respectively such that BC

55. Let the triangles ABRC and DEF be such

that £ABC= <£DEF, #ACEB= #DFE and
£BAC = LEDF, Let L be the midpoint of

and DE are parallel, If the area of
triangle ABC is twice the area of triangle
ADE, then the length of AD is

BC and M be the midpoint of EF
Consider the following statements :

Statement | :

fa) %unit Triangles ABL and DEM are similar.
Statement II ;
1 1
(k] 3 urt Triangle ALC is congruent to triangle
DMF ewven if AC= DF.
1 .
— Lnit . ;
(c) 2 " Which one of the following is correct in
respect of the above statements?
1 g
fd] — unit
3 fa)  Both Statement T and Staterment 11
are true and Statement II is the
; t nation of State t1
3. A rhombus is fermed by joining R e

midpoints of the sides of a rectangle in
the auitable order. If the area of the (5 Both Etatement | and Sta e o
are true but Statement 11 is not the

cormect explanation of Statement 1

rhombus is 2 square units, then the
area of the rectangle is

Statement [ is true but Statement IT
is false

fal 242 square units i)

Bl 4 sguare units

{dl  Statement [ iz false but Statement 11

o} 442 square units is true

jd] & sguare units

§6. The number of rounds that a wheel
of diameter 7/11 metre will make in
traversing 4 km will be

54. Il each interior angle of & regular polygon
is 1407, then the number of vertices of
the polvgon is equal to

fai 10 il
i (B 1000
(el 8 fe) 1700
il 7 fdl 2000

B-ABPA-P-JRW [ 54A 18



52. WA T T ABC wH Tgw #, T AR A
HaT U G 8| D 3in EF AR #R AC
w A v i gl T 6C st DE wEe
#) o fnga ABC ® SaeR, fgm ADE *
SaEE F 9 T A, W AD F wEE TR

1 <
fe) EEEFIE

i "
(B EEEFIE

1
fc) 0]

W

1
Fe i
[£el] 7 23]

53. T AT # g F E-FgA w0 e
4 & dew W gHEgda T wm e uR
aEge 1 awEa 2 =0 v 3, @ 2
S Y

2% o
4 Y 7§

4.2 T yod

fal
fo)
fc)

fd) & 39 TS

54, wft TE 9 WP FOWDE HEFET 1400 3, A
=RyE & vl ) den feE e b
fa) 10
s &
fo} B

id 7T

B-ABPA-P-JRW [54A

1%

55. wA efifim fis finm Apc o B DEF W
TH § R £ABC - ZDEF, SACB = £DFE
N £BAC = ~EDF % wA dfifiy L, BC®
ma-fag ® osn M, EF ® owa-fag %
Ffafem e @ Faw Fife

T

Taqa ABL ¥ 8= DEM TrEn #

e 10

A ALC, f@ DMF % wabmm 2, 7+,
w8 AC # DF B

T el 6 e Frerfaian 4 4 20w
w2t

fa) ®HR ] MR WA 1 OFE B § R
W 1, w1 e e g

fb) wEH 1 A wER 1 EE AE Y Al
FAA 11, T 1 i TE = T

fe) FaT 1 T R A a0 e R

fd) FHRIAFE I SE TR

86, 7/11 tEn s % uk uien g 4 e W 1
= wm o B e T owww o wEm wn
Lk

fa) SO0
b 1000
fe) 1700

fell 2000

[P.T.0.



57. The base of an isosccles triangle is
300 units and each of its equal sides is
170 units. Then the area of the thangle
is

fal
o)
fo) L2000 square units
fdj

58. Four equal disos are placed such that
each one touches two others, If the area
of empty space enclosed by them is
150/847 square centimetre, then the
radius of each disc is equal o

fee} T/6 om
B 5/6 cm
fef 172 em
fd} 5f11 cm

§9. ABCand DEF are similar triangles. If the
rativc of side AL to side DE s
[(+2+1):43, then the ratio of area of
triangle ABC to that of triangle DEF is

fa) (3-242):3
(b} (9-642):2
fel 1:19 -642)
fdl [3+242):2

9500 square units
LOO00 sguare units

Hane al the above

80. A tangent 18 drawn from an externel
point O to & circle of radius 3 units at
F such that OPF =4 units. T C iz the

centre of the circle, then the sine of the
angle COP ia

fa} 45
(b} 3/4
fel 3/5
fd) 172

B-ABPA-P-JRW /544
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61. A sguare is inscribed in a right-angled
triangle with legs p and g, and has a
comman right angle with the triangle.
The diagonal of the sguare is given by

Jo]
p+lg

(aj

b £
B} TR

2 pg

fe
j Ptq

2pq
Py

fedf

62. = -Ztand=1and £tanﬂ+§= 1, then
[}

a b
2 2
the value nfx—+y—13
a? B2
(o) 2sec? @ fb} sect @
fcl cost fid) Zeos” B

63. Consgider the following :

1-cos

= CcoseCH —ooth
l+cogh

1l+cosb

= posec B + ool B
l—cozd

Which of the above isfare identity/
identities?

fa) 1 enly

() 2 only

foi Beoth 1 and 2
fd) MNeither 1 nor 2



57. foit woiiay Fv@ =1 sam 300 = R

el W oy 4 ¥ wEds i an
170 79 ¥ By = deww wm R

61. p M g g TR TF wEm P d o

#Haart wi= T R B R awm, a1
wreim oft ¥ = Rt Fen w37

fa) 9600 & ¥ 5
(b} 10000 =1 g fal p+2q
fe) 12000 =1 = i
) s 2 e

58, 9n WA =fEwe # s e wwm g o 2
W Wi B 3 AR T = R Pty
% T T whEe e wWE W dEew 2pa
150/847 ¥ e o ¥, W vE% afFm H fcd) s
T Tomrs =mmem 7
fa] 76 Ha o
(b} 5/6 o o 62, ﬂﬁi—%mnﬂulaﬂ'{ftanﬂ+f-]ﬁ.?ﬂ
e 1/28e e £+£iﬂmm‘é?
@ 5/11 He e a? »?

59. ABC sl DEF wieu fiw ¥ 7R ¥ AB fa 2sec?®  (b) sec?@
# Fa1 A 37
fa) 13_21@'_.3 63, ﬁﬂﬁlﬁﬁﬂﬁﬂﬂﬂﬁq.
i {9-642):2 Ih-l:mﬁ_
i ]:EEI-EH'ﬁ]: 1. 1.m_1:|:ua-|!1|:EI'—r_‘u:-'cEF
@ [3+272):2 2. r:.fiz_:wﬁﬂunamﬂ+cntﬂ

60. 3R RIS wmam s g P W
g o v i wm wEn w4 e T § § T -wt wafim et A
moP=amd i aRmmImce @
M COP F sine 791 87 (@) 9 1
fa) 4)5 (b FaE 2
fbl 3/4
o as o) 1 @R 2 EH
fd) 1/2 f@ AMm1smade

B-ABPA-P-JRW/54A 21 |P.T.O.



W pEROUES AN BRE g ace i chen, 67. In a triangle ABCif A- B=T, then C+ 28
then | p%g)® - (g% p)? is equal to 2

i3 equal to
f] O
2
1 fa} Et
foi 2
i@ 3 3n
w3

658, Two observers are stattoned due north of
a tower [of height x metre) at a distance i
3 metre from each other, The angles of
elevation of the tower observed by them

are 30° and 45° respectively. Then x [y el %
iz equal to
@ Y21
e 68. Which of the following iz correct
JA-1 in respect of the equation
b = 3-tan? @ =un(l-3tan® 8)7 (Given that
o is a real number,)
+3+1
fcf = . EF] 3
BB) =
3 ]
fd] 1
66, If [H] |1E[—'='=, —;]I_.'IEI, e
cos” B - 3cosf 42 al

sin” & i
I fef EI'E[_‘:"“1 _1||"-'||-3| n.:]
where D<HB< 5 then which of the 3
following statements isfare correct? id) Noze of the above
1. There are two values of & satisfying

the above cquation. 69, There are five lines in a plane, no two

2. 8=60" is satislied by the above of which are parallel, The maximum
equation, number of points in which they can

Select the correct answer using the code L L

given below, fal 4
1

fa) 1 only B 6

{b) 2 only

e} Both 1 and 2 fe} 10

fdl HNeither 1 nor 2 {d] None of the above

B-ABPA-P-JRW [ B4A 22



64. w4 p=coth+tan® 3 g = sech-coab ¥,

67. W@ ABCH TR A-B=" %, @ C+2B
# (p%a)} ~(g®p)} P T ¥7 2

ot st 7
fa) O
fb 1 faf %
fef 2 5
fd 3 ) T“
65, = UeE TE UER (xS S dw o n fe) =
TE-gE # gy e i g W aEm ) = e
A WA A e wmoFmm: 300 e f‘”%
45* §1 71 x / y T = 17
2 -1
o =g 68, fafefn & & ohwem,  wftem
-1 3-tanB=a(l-3an?e) & W § wh
il 27 (Fem 7 3 5 o s et HE )
Ja+1
ot —3 el ué[il, :3:|
jd) 1
1
66, T o “ra_“' E]ulﬂ, =3
2g_
08 ngmﬂzr::aﬂ+2=] o I:l.EI:—h, %)um, )
a&‘ﬁu:aqgi,aﬁﬁmﬁﬂaﬂwﬂﬁﬁ () T
-/l ud B8

L R AR I A, 6F D 6o, ur wwww § ot vt 8, Tead @ W o0 @
LR i A &1 W Fge A, fR @ 3 ahee
3. 6= 60° T9fE AHE A HEE B = WA B, wibAn wem = ed

14t fam 0 =2 = WA F A I A fa) 4
fa) = 1
bl &
fb) EE 2 o
fe) 1 =t 2 2| fe] 10
) IFM1MIR2 fd} FET H H FHE T
B-ABPA-P-JRW /544 23 |P.T. 0.



TO. Consider a circle with centre at O and

radius 7 em, Let QR be a chord of length

2cm and let P be the midpoint of QR

Let CD be another chord of this circle

pasamg through P such that ZCPQ

18 acute. If M iz the midpoint of CD

and MP =424 em, then which of the

following statements are correct?

1. Z0PD =135

2. HCP=mcmand PO =ncm, then m
and n are the roots of the goadratic
eguation ¥ 10x+1=0

3. The ratio of the arca of triangle OFR
to the area of triangle OMP is 1: 2432,

Select the correct answer using the code

givert below,

fel 1 and 2 only
fb) 2 and 3 only
el 1 and 3 only
fd} 1, 2 and 3

T1. Let ABC be a triangle in which AR = AC

Let L be the locus of points X inside or

on the trangle such that BX = CX.

Which of the following statements are

correct?

1. Lis a straight line passing through
Aand in-centre of triangle ABC is
on i

2. Lis a straight line passing through
A and orthocentre of triangle ABC
is A point on L.

3. L is a straight line passing through
A and centroid of triangle ABC is &
point on L.

Select the correct answer using the code
given below,

fa) 1 and 2 only
bl 2 and 3 only
fef 1 and 3 only
fd] 1,2 and 3

B-ABPA-P-IRW f54A
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T2, Consider a circle with centre at O Let OF,

03 dencte respectively the tangents
to the circle drawn from a point O
outside the circle, Let B be a point on OF
and 5 be a point on OO such that
DR x 80 = 08Sx BEP, Which of the
following statements is/are correct?

1. If X is the circle with centre at O
and radis OF, and ¥ 13 the circle
with centre at O and radius OS5,
then X =Y.

2. ZPOC+ Z000 = 9P

Select the correct answer using the code
piven below,

fri 1 only

fbl 2 only

fe] Both 1 and 2
fdl Neither 1 nor 2

T3. If m and n are distingt natumal numbers,

then which of the following is/are
integer fintegers?

It rl
1, ===
nom

2. FFU'L[ETE][HIETFIE]_I
noom

Frl

F'I*t2 +F'I:z

3.

Select the correct answer using the code
piven below,

fo) 1 and 2
(b} 2 only
fc) 2 and 3
fd] 3 only



70. ¥ O &t 7 A Ho fem ¥ = @ W e

#ifsm | 7R i OR, 2 #e Hle w0 TH
W B oo efifm R = owa-fig #)
WA witen co whoEm R, p & e
e, T A dE W W ¢ TR scPg
= 2 AR M, oD w1 na-fg ¥ o
MP =423 #He Hio B, % Fr=forfimn st 3
1 - wdh &7

. ZQPD =135
2. ot 0P = mTo fe 37 PD = n He fa
B, @ m #AR n fEm Wi

x2-10x+1=0% A )

3. f@ orrR % duwe w1 B oMe &
§EEE B W 1: 242 ¢

A4 B ez w1 i A = I gRm

fa) FEE 1 #E 2

fb) FEE 2 03

fe) AR 1 R 3

fd} 1,23R3

71. "W #ifaw ARC wE BvE R, Feil AB= AC

B wm e Rgsl x o, ) f Bge & o

o A e e B Bx = ox b, fagm

L ¥ Feafafiza wa § @ -3 oh 57

1. L, AW 7 @l uF ute tan ks
s ABC I 3SR LY

2. L AW TR IR uE A e
Bys ABC W wEHz LW U fag R

3. L, A TEA A OF WE R oain
e ABC 1 FEF LR s g

1 fam o = v = A T g
jo) FEE 1 #E 2
ib) a2 s 3
fo} AT 1 w3
el 1, 2303

B-ABPA-P-JRW /544

72. %2 C W vF g W fEw S o it

OP, OQ F50: Y0 % am g 0B T W
wffeft wh wi-mnd §) W9 wifm R, oP w
g s oo iR R
ORx 50 = 05 x RP §| Frefafian %udi 4 4
-8

1. IR x % oo fien orw A # Am
Y, % o ¥ f=wm os = ow B, @
X=Y%

2. LPOC+ L0000 = 90F

=+ T g W e = I g
fa} ¥ 1

(b} A 2

fe) 13 2 ]

) AW mad 2

73. AR m 3 n Tim w3 pis §, & Fefaies |

H FA-HA i R R

moon
. —+—
o m

- +mn

A fém e 2w wE e wd T g
fa} 1#¥RE2
b} W= 2
fe} 2303
fd) e 3

[P.T. 0.



T4, Oitside a mesting room, Madhukar was

told by a persom that each meeting
takes place after 13/4 hours. The last
mesting has been over just 45 minutes
ago and the next meeting will take place
at 2 p.m, At what time did Madhukar
receive this information?

fe) 10:20 a.m.

B 11:30 a.m.

fel  11:40 a.m.

fdl 11:50 a.m.

T5. The expenditure of a housshold for a

certain month is & 20,000, out of which
¥ 8,000 ia spent on education, ¥ 5,900
on food, ¥ 2,800 on shopping and the
rest on personal care, What percentage
of expenditure is apent on personal
care?

fa) 12%
b 16-5%

fe)  18%

(dl 21-8%

B-ABPA-P-IRW /54A
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76,

T7T. A circular path i made [rom

If

where x, ¥ and z are natural numbers,
then what i3 z egual to?

fa) 1 &) 2
el 3 fd) 4

W
concentric circalar ringa in such a way
that the smaller ring when allowed to
roll over the circumference of the bigger
ring, it takes three full revolutions.
If the area of the pathway is equal to
i limes the area of the amaller ring, then
n is equal to

fa} 4
fe) &

bl &
ey 10

TB. Consider the following statements |

1. If nz3 and m=3 are distinct
positive integers, then the sum of
the exteror angles of a regular
polyveon of m sides 13 different from
the sum of the exterior angles of a
regular polvgon of n sides,

2. Let m, n be integers such that
m=>nz3 Then the sum of the
interior angles of a regular polygon
of m sides is greater tham the
sum of the interior angles of a
regular polygon of n sides, and their
sum is {m+u|§.

Which of the above statements isfarnc
correct?

fa) 1 only

b 2 only

fel Both 1 and 2

fd} Meither 1 nor 2



T4, WU T % AE UF ARG A OYE W g B 76. TE
T 49F 13/4 94 F 9= €6 3 e 61 1

¥ow dm 45 e wed @ wm g & ol E=3+;+.i_

I AW IR 2 99 B WE #1 9R g+

= FEm T T e *
ﬁﬁx.yﬁﬂ'{ztﬁmﬁ,?ﬁzﬁmﬂﬁm
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fa) 10:20 =B fa) 1 fb) 2
fe} 3 fdj 4

B 11:30 95 77. W g va @ 3 Y e § T wE w

PO TR W A W
e W ¥, @ 9w g A e e R

fe) 11:40 gaig TR w1 S9eR, 9 T % daew W
n TN B, 7 o s T Y

fd) 11:50 FaTE 2 &9
fe] & fd) 10

78. Tt e w B £ .

1. T az3 M me 3 fm wes pis
8, @ m s W 0E Wy wgyw &

78. TF W F i Eem wd@ w o= # 20,000 3, dfesiol F 9FHR, o WS T OF
fred § fen W # 8,000, @R W 5,900, A & i & goew @ i
wiEE T F 2,800 AW ¥ =TEE HEYE W B
= W B %a =m ow e afme =m 2 HR 3 &
=t HRATE TR A7 i B il

menz3 A m Y@ T TH WL
IEE o AN F AR, n g
UTE U EE AR F ATF0 F e

Lt 3 st o A ()
ml I6-5% 4
e waEl § @ - s w2
fa) FAH 1
o) 18% {b) FEE 2
fe 1 #m 23
[ 218% el T 1 dARTA2
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79, Consider the following statements ;

1. There exists 8 regular polygon
whose exberior angle is 70

2. Let n2 5 Then the exterior angle
of any regular pobgon of i sides
i8 acube.

Which of the abave statements is/are
correcty

faj 1 only

iy 2 only

fe} Both 1 and 2

{d] MNeither 1 nor 2

. In a tmangle POR, point X s on PD
gnd point ¥ is eon PR such
that XF=1:-5 unils, XQ==8&uniis,

FY =2 units and YR =8 units, Which
of the following are correct?

1. QR=3XY

2., QR is parallel to XV¥.

3. Triangle P¥X is similar to triangle
FRC}

Select the correct answer using the code

piven below.

fal 1 and 2 only
fbl 2 and 3 only
fej 1 and 3 only
fdf 1, 2 and 3

81. If a transversal intersects four parallel

straight lines, then the number of
distinct values of the angles formmed will
be

fa) 2
(b} 4
fct B
fd) 16

B-ABPA-P-JRW /B4A

B2, A person travels T km castwards and

then turns rght and travels 3 km and
further turns right and travels 13 km.
What is the shortest distance of the
present position of the person from his
starting point?

jal & km

() 35 km

g} 7 km

fd) 445 kmn

B3. ABC iz a triangle in which 0 is the

Bd.

midpoint of BC and E s the midpoint

of AD. Which of the following statements

isfare cormect?

1. The area of triangle ABC is equal to
four times the arca of triangle BED,

2. The area of trangle ADC i twice
the area of triangle BED,

Select the correct answer using the code
given below.

faf 1 only

B 2 only

fef Both 1 and 2
(d] Meither 1 nor 2

A cirele of 2 m radius is divided into
three areas by semicircles of radii 1 m
and 2 m as shown in the figure above.
The ratio of the three areas A Band ©
will be

faj 2:3:2
fol 4:3:4

B 1:1:1
1201
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79. Trefaia s = fEn fifin

1. s apgs w0, free afiegm 700
AfETE B

2. WW TG pz 581 R @ n e
A WY agyE = e = 8

g e B A FR-m S w2

fa) EE 1

(b} a2

L B

@) ad 1mada

80. Teil = POR W g x, PO W 3l fig

Y, PRE 50 W0 ¢ 76 XP=1.5 w50,
XQ - 6 FE, PY =2 79 991 YR = 8 7%
¥ Tesfefim & & F99-0 w0 87

1. OR-5xY

2. QR, XY % 7w ¥

3. T pyx, Bogw PRO % AwEn B
48 frm 32 = wm W w® e gt
jr) EE 1 ¥E 2

bl #Ea 2 ol 3

fe) Fam 13 a

fd 1,233

81. 1t wx fodfs = =m wmim w Eet =

Wio=ea w0 B, W @ wEE a wmF
A ) e w=

faj 2

b 4

fef 8

fdj 16
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B2. wFk =i gd £ 3w 7 fro ot == B, fm

o gz ¥ w3 fe We wam B, 3w
i T B TE 13 o e g=a %) 70 =l
& WA iy 4 e T R s
gl firy 27

fal 6 Fe e

(b 35 fie a

fe) 7 Tk ot

fd} 443 fpe Tt

83, ABCuw fqa &, fmd p, Bo = -y &

R E, AD w1 ma-fig #) Fafafas s

& w9-m /8 wh e

L. Tigm ABc = dmem, fiye BED ¥
§TFE = AR R

2. T Apc = d9Em, W BED ¥
e kAR o T

1 i 2 = o= v I R

fa) A 1

T =

) 130 2 3F

() T 1 a2

< i w wfEn fam # ewim o B, 3 e
e & v gm0 1 o ol 2 o B F
Avgl | oF &5 8 Frafaa o ) @
o A, B 3 Cw Em R

fal 2:3:2 B 1:1:1

o} 4:3:4 d 1:2:1

[ FT. o



B85, If F:E—F and x - y= 5, then the
¥y 3 x

value of xy is equal to

ja) 36
fhl 24
et 16
fdj @

B6. A

P'

M

i o C

ABC 13 a triangle right angled at C as
shown in the figure above. Which one
of the following is correct?

fa} AQ*+AB? = BP?+ PQ?

b AQ*+ PQ? = AB? 4 BP?

el AQr+ BP? = AB? + PO

{d) A%+ AP® = BE? + KQ?

B-ABPA-P-JRW [ 54A 30

B7T.

In the figure given above, AD = CO = BC,
What iz the value of SCDHE?

fa) 32°

k] B4*

je] T8°

jef) Cannot be determined due o
insufficient data

BB. ABC is an equilateral trigngle and X, ¥
and Z are the peints on BC, CA and AR
reapectively such that BX = CF = AZ.
Which of the following is/are correct?

1. X¥Z is an equilateral triangle.

2, Trangle XYZ is similar to (riangle
ABC

Select the correct answer using the code
piven below,

fa) 1 only
fb} 2 only
fc) Both 1 and 2

(d} Meither 1 nor 2



I!E.Irﬁ‘\lfg-%n-\;%ﬂﬂx—buﬂi,?ﬁwﬂ Gl

urm el oo 27
fa) 36
b 24 ; : y =
e} 16 i
Fo ¥t w4 AD=cD = BC Y £CDB
?
il o = 99 1§
fe) 32°
fb) 64°
i ” fe) T8°
id) wmEm wtEE % s Guffm 58
A W=
P
B8. ABC u% wvEE fagw B adw gl x, v 2
FEE OBC, CATT ABR [ =R & %
5 4 L BX = CY = Az %1 Fafeftan 3 & w8
LR
ABC % fingzm B, ool © oo R, W T | XYZ T 1
= A Toa 8 =eier wn ¥ Paefafra & 8 o
FH-W TF WE 27 2. Tga xvz, e ABC % wosg §)
s H e
@) AQ®+ AB? = BP?+ pO? A fe 2 1w o R gR
fa} 1
b} AQ®+ PO? = AR%+ BP?
fb) A 2
2 _ ap? 2
fel AQ?+ BP? = AB®+ PO o 152 a
fd) AQ?*+ AP? = BK2 . ko2 ) a@ 1A
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91. The election result in which six parties
contested was depicted by a pig charl,
Partv A had an angle 135" on thiz pie
chart. If it secured 21960 votes, how
many valid votes in total were cast?

faj 51240
fl) SBSGD
In the figure given above, p and g arc 5
parallel lines. What are the values of the ie} rBad
angles x, y and =7 fd} BTE40

92. The mean and median of 5 obasrvations
are 9 and B respectively, IT 1 is
subtracted from cach observation, then

fb) x=80F, y=50 =z=108 the new mean and the new median

will respectively be

fe) x=T0°, y=40°, z=11F fa) & and 7

fb) @ and 7

fdf x=60" y=020°F, ==121P fe) B and 9

fdl Cannot be determined duc 1o
insuificient data

jal x=80F, y=40°, =z=I100F

s 93, The age distribution of 40 children is as

foliows :

Age (in years| | 5-6 | 6-7 | 7-8 | 8.9 |9-10]10-11
Mo, of choldren | 4 7 G 13 & 2

Consider the following statements in
reapect of  the above  frequency

g

of 1 ¥ 3 4 distribution :

1. The median of the age distribution
The linear incguations, for which the ls 7 years.
shaded area in the figure given above is 2. T0% of the children are in the age
the solution set, are group b6-9 years,

3, The modal age of the children is
fa) 2x+6y=2], GSx-2y=10 8 years.

Which of the =above statements are
b 2x+6ys2], Sx-2y=10 correct?

fal 1 and 2 only
fo] 2x+b6yz2]l, Sx-2uys10 b} 2 and 3 only

fef 1 and 3 only
fd) 2x+6yz2l, Sx-2y=10 (d} 1,2 and3

B-ABPA-P-JRW /544 a2



BO. < » ¥ >p 91, UF T w, T we = 2 wm T, oo
* wriva (v =) 20wt wn) W@ Tt §
TA A W W 135° @1 9k T 21060 T

o foor 5 Teret, A1 ot T o e w7

g fa) 51240
= st T 4 p ol g e Tand ) #m b} 58560
x.yﬁiz%qﬁﬂ'lﬁ? e} 78320
fal x=80F, y=40" z=100 (€ 87840
: 92. 5 el % men s mitrw w0 olw g 8
7] =80, y=50F, ==
el G R 7 e A | s, @
fe} x=70F, y=4CF, z=110° i 7 wifta w9, Fam
f) & 37
fdl x=B60F, y=20°, =z=120° b oswT
fej 8¥mo
fd) s stEgi ¥ s Fifa ) fey
GiE T
90.
93. 40 5= 1 WY * G Frefafem b
sy (el &) 56 | 6-7 | 7-8 | 9 |9-10]10-11
Zx+oyn2l weet! off 4 |l 7|9 |1z|e6e] 2
y oy I AT g2 Wi § i S
w, ferem Fifin
2 s s, B o B i 1. = 29 & mivr 7 2d §)
& W S i Fas A wwie T g, B 2. 70%IHeo I E A
3. == ) ageE Ay 8 ¥
fal 2x+6y=21, Sx-2y=10 Eqﬂﬂ*ﬂ?ﬁiﬁﬁirﬁﬂﬁﬂ
bl 2x+6y=<2l, Sx-2yz10 fa) Fad 19w 2
fe) 2x+6y=2]1, 5x-2y=10 b} S 2 MR 3
fc) @ 1 A3
I:d..l 2.I+E-y2'21. SI-EHE“] fd,' I.Eﬂﬂﬂ
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94. Supposcx; = A’ for 021210, where d > L
Which one of the following is correct?

fal AM < Median
B CGM = Median
o} GM = Median
fd) AM = Median

5. Supposo X, =% for =1, 2 3, .., 1L

Which one of the follawing is not
correct?

fa) AM >1/6
) GM>1/6
6/ HM>1/6
{d] Median = HM

96. The value af
iz
fa) @
b} 1
el 2
fe) 3

a7, I tand+cotl =, whers 0 <8 < g. then

V3

sinB +cosf iz eqgual to
fua)

5 -

il

(]}

@,
:

le}

o

(d) 2

B-ABPA-P-JRW /544
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98, The value of the expression

(243 4+ 647)7 + (243 - 647"

243x 243 + 647w B4T
iz equal to
fa) O (B} 1
fel 2 fed} 3

949, If o and b are negative real numbers and

100,

¢ i% a positive real numbeér, then which
of the following is/are carrect?

. a-b=<g-¢
2. Ma<h, then & :E.
(TR
3. l...:l
b ¢

Select the correct answer using the code
givern below.

fat 1
b 2 only

e} 3 only
fdl 2 and 3

Al is the diameter of a circle with area
707 m*? and AB= BC=CD as shown in
the fipure above. All |[curves inside
the eircle are semicircles with their
diameters on AD. What is the cost of
levelling the shaded region at the rate of
F 63 per square metre?

fa) ¥ 29700
(b} 22,400
(el * 14,847
{dl Mone of the above



o4. U i 0<ic10 % fm ok =00 B, W 98, =w

A > 19| Fraffim & & #m-w ol 37 (243 + 6472 + (243 - 647)?
i) AM < HifEmE 243 =243 + 647 % 647
w1 AT R o 7
GM < s
o G- faj O w1
fe] GM = AR ot 2 d] 3
fd} AM = FIEH 99, af o Al b wonEE SR T § e .
TH NS ARAaE wen 3 @ et A
95, WF Witen i=1, 2, 4,.., 11 % fm x, -2 AW/ R
. 1. ga-b<d-g
21 fiefafan # @ Sin-m w2 =f b
0 2. Maeh @t Tl
fa) AM >1/6 = e
b GM=1/6 et %“%
fc) HM=>1/6 T fan T g wE O I g
fd) e = HM fap 1
b FEE 2
a6, é]ngm 3125-4log p 2 +1log5 32 | WH (4 w3
fd} 2¥n 3
7 i1
W 0 100,
ik 1
fe) 2
et} 3
W.ﬂﬁtanﬂ+eutﬁ=i_ ?,Wﬂﬂnﬁc—ﬂ.ﬁl T st fom 8 2wl w0 B, AD W
43 2 T W A, 9 W g 707 o fe B
sin  + cosf fmh T §7 #M AB= BC=CD %1 99 % 2 off ==
a) 1 S §, e wm AD wo#) Fes mf
o Hie =t 71 ¥ WiEa 53 1 w9 F=1 e
(i) > =] 1
faj T o29.T00
fe) ﬁ;l B T 22,400
fol € 14,847
fd) +2 fd) aude A & wid
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